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Questions

An example of carnivores plant is:

Biospher surrounding the earth is about:

Abiotic component of the ecosystem is:

Organisms in the ecosystem that are responisble for recycling of plant and animal wastes
are:

Which one of the following is a tertiary consumer:

Rabbitis a :

It is an example of primary consumers:

Decomposers are:

All herbivore animals are:

Which of the following is the abiotic part of ecosystems?

What is tertairy cornivore:

The consumersthat eat animal flesh as well as plants and plant products are called:
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. Mosses

. Ferns

. Rose Plant
. Sundew

.17 km
.18 km
.19 km
.20 km

. Producers

. Consumers

. Decomposers
. Light

. Producers

. Consumers

. Decomposers
. Compititors

. Ow

. Larwa of butterfly
. Deer

. Rabbit

Producer
. Herbivore
. Cornivore
. Tertiary Consumer

. Cattles
. Snake
. Lion

. Frog

. Algae and becteria
. Mosses

. Animal

. Becteria and fungi

. Grass eater
. Parasites

. Predaters

. Prey

. Grass
. Goat
. Lion

. Soil

. Deer

. Frog
Snake
. Lion

. Herbivors
. Carnivores

. Omnivores
. Insectivores



